
Latest Version: 4.0 
 

Question: 1 
   
Which phase in PDCA cycle assesses the effectiveness of the BCMS against requirements of the business 
continuity policy? 
 
A. Plan 
B. Do 
C. Check 
D. Act 
 

Answer: C     
 

Question: 2 
   
Which of the following approach identifies potential threats to an organisation and impacts to business 
operations? 
 
A. Business Process Management 
B. Business Continuity Management 
C. Six Sigma Approach 
D. ISMS Security Process 
 

Answer: B     
 

Question: 3 
   
The actions of the media and press have a profound impact on the long-term performance, or in some 
cases. 
 
A. True 
B. False 
 

Answer: A     
 

Question: 4 
   
The PDCA paradigm cycle is widely recognized as a process-centric approact? 



 
A. True 
B. False 
 

Answer: A     
 

Question: 5 
   
Which of the following evaluation process enables senior executives to manage decisions on building 
resilience in the development programme? 
 
A. Resources Allocation 
B. New Product/Service Assessment 
C. Process Evaluation 
D. Adaption 
 

Answer: B     
 


